Maths Home Learning								Name:	______________________ 
Wc 03.06.19 Due Wc 10.06.19
Counting and Adjusting
Show counting and adjusting for the following:
You MUST use a number line, drawn with a ruler, to show your work.

148 + 79 =


236 - 49 =


282 + 91 =


318 – 31 =


474 + 121 =


425 – 169 =


Revisiting Previous Learning:
Complete the sequences:
123, 223, 323, _____, ______, ______, ______, ________.

87,_____,107, _____127,_____, 147, ______.

157, _____, 137, _____, 117, ______, 97, _____, 77, ______.
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